
N = 2221
2221 circles in a circle

radius =   0.019905678307
ratio  =  50.236921574726

density  = 0.880040220101
contacts = 5521

 E.SPECHT
10-JUN-2014

N = 2222
2222 circles in a circle

radius =   0.019894344533
ratio  =  50.265541462055

density  = 0.879434146480
contacts = 3828

 E.SPECHT
31-MAY-2014

N = 2223
2223 circles in a circle

radius =   0.019888397534
ratio  =  50.280571789832

density  = 0.879303996446
contacts = 4324

 E.SPECHT
31-MAY-2014

N = 2224
2224 circles in a circle

radius =   0.019884860431
ratio  =  50.289515658134

density  = 0.879386667769
contacts = 4310

 E.SPECHT
31-MAY-2014

N = 2225
2225 circles in a circle

radius =   0.019877789344
ratio  =  50.307405047574

density  = 0.879156483017
contacts = 4499

 E.SPECHT
31-MAY-2014

N = 2226
2226 circles in a circle

radius =   0.019871854170
ratio  =  50.322430480771

density  = 0.879026449241
contacts = 4252

 E.SPECHT
31-MAY-2014

N = 2227
2227 circles in a circle

radius =   0.019869871914
ratio  =  50.327450740770

density  = 0.879245900640
contacts = 3909

 E.SPECHT
31-MAY-2014

N = 2228
2228 circles in a circle

radius =   0.019862306357
ratio  =  50.346620478409

density  = 0.878970984421
contacts = 4090

 E.SPECHT
31-MAY-2014

N = 2229
2229 circles in a circle

radius =   0.019855708964
ratio  =  50.363348989585

density  = 0.878781418813
contacts = 4328

 E.SPECHT
31-MAY-2014

N = 2230
2230 circles in a circle

radius =   0.019850668589
ratio  =  50.376136981923

density  = 0.878729366811
contacts = 3980

 E.SPECHT
31-MAY-2014

N = 2231
2231 circles in a circle

radius =   0.019844436070
ratio  =  50.391958554963

density  = 0.878571465415
contacts = 5720

 E.SPECHT
31-MAY-2014

N = 2232
2232 circles in a circle

radius =   0.019844073406
ratio  =  50.392879502028

density  = 0.878933140572
contacts = 4318

 E.SPECHT
31-MAY-2014


